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. Pleass check that this question paper conteins 11 printed pages.

L Code number given on the right hand side of the guestion paper should be written on
the title page of the andwer-book by the candidate.

*  Please check that this question paper containg 30 questions,
»  Please write down the Serial Number of the question before attempting It

. L5 minute time has been allotted to read this question paper. The question paper will
( be distributed at 10.15 a.m. From 10.13 Lm. to 10.30 a.m,, the stodentss will read the
guestion paper only and will not write any answer on the answer-book during this

period.
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General Insiructions ;
(i)  All questiony are compulzory,

(i) This guestion paper consists af 30 questions divided into four sections = A, -
and D,

(i) Section A containy 6 guestions of I mark each, Section 8 containg 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each. Section D contains
& questions of & marks each.

() There i3 no overall choice, However, an internal choice has been provided in four

guestions of 3 marks each and 3 guestions of 4 marks each, You have to aitempt only
one of the alternarives in all such questions.

vy Use af calewdator is not permitted,

WE-H
SECTION - A

TRFEI I A 6T R T 1 S W |

Question numbers 1 1o 6 carry 1 mark each,

I ¢ x=3, fardm i 2 - 2o 6 = 0F TH g R, A kw1 e o i |
Ifx = 3 is one root of the quadratic equation x* — 2kx — 6 = [, then find the value of k.
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Wit & BT ST e T B ¥ g e #en w1 0.E, (HCE) T d 7
What is the HCF of smallest prime number und the smatlest composite number 7

o e |

w fig Poe, y) 9 e g @ 2 o i |
Find the distance of 4 point Pls, v) from the origin,

R S

#F&qﬂ*-!aﬂ'rﬁtiﬂﬁ‘rmﬂ-aim{d;:-dﬁﬂﬁﬂﬁ@}:dt,?ﬁﬁﬁrﬂmﬁm
o |

In an AP, if the commaon difference (d) =4, and the seventh term {:1.;} 15 4, then find the
firse term,

(oou 67° = sin? 23 I A wIT R 7
What is the value of (cos® §7° — sind 23717

ferm & % A ABC - APOR 8, Irﬁ:m 3%, ﬁ%ﬁ mﬁﬁvl

Given A ABC - APOR, if % =%. then find ﬁ%ﬁ :

TUE-F

SECTION - B

W HE TH R AE TR TR A §
Question numbers 7 10 12 carry 2 marks gach.

T 3 2 2 vt w8, At forg i 6 (5 4 12 o i gen &
Given that+f2 is irrational, prove that (5 +34/2) is an trrational number.
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InFig. 1, ABCD iz g rectangle. Find the values of x and v,

D Ity [
14 cm el
A 3 em B
Fig.-1

8 3% e 8 TS o v < |

Find the sum of first 8 multiples of 3, "

10. & sigym s Hifm e fiig peg, m), W3t A2, 3) 7o Be6, -3) % fremt T
tamve % fonfim w g | s ty % T e irfr |

Find the ratio in which Py4, m} divides the line segment joining the points A(2, 3) and
B(6, -3). Hence find m,

11 ﬁ%mﬁfﬁmmmwﬁn#mﬁﬁmﬁrﬁmﬁﬁm:
(i) T fim 3
fif) ﬂﬁw“mﬁwﬁwn‘mmHWr

Twao different dice ure tossed together, Find the probability :
(8 of getting & doublet
(ii}  of getting a sum 10, of the nutbers on the two dice,

Al 4
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i) ESREWEEE
(i) BEYTTTEIR|

An integer is chosen at random between 1 and 100. Find the probability that it is |
(i) divisible by &,
(it not divisible by 8.

W -4
SECTION-C

TREE BE LT TR T AFR R |
Question numbers 13 to 22 carry 3 marks each,

404 U1 96 % 7.4, (HCF) 341 7.8, (LOM) T Shilae wa e &1 weme Hiie |
HCF » LCM = r &t 7§ Feans] &1 Pawe

Find HCF and LCM of 404 and 96 and verify that HCF x LCM = Product of the two
given numbers,

ot TEE (20° - 0t + 522 + Ax - 1) % S w2 4 A5) T (2 - 3 F o od
T TSI |

Find all zeroes of the polynomial (2% — 9% + 52? + 3x - 1) if two of its zeroes are
@+4/3) and (2 -+3).

afE A(=2, 1), Bla, 0), O, by 741 D1, 2) 7% FHRR T0dR ABCD % ¥4 fiig £, 71 a wen
b3 5T 3 1T | 3 5 e g o e e i |

FEHT

Ak A(-S, 7), B(~ 4, =5), C(~1, - 6) 741 D4, 5) WF adw ABCD ¥ it fiig &, 1 =i
ABCD 1 #3%0 FT Sy |

If Al=2, 1), B(a, 0), C{4, b) and D(1, 2) are the vertices of & parallelogram ABCD, find
the values of a and b. Hence find the lengths of its sides,

OR

If Al=5, T}, B{=4, =5), C{~1, —6) and D(4, 5) are the vertices of a quadrilateral, find the

area of the quadrilateral ABCD.
5 [P.T.0,
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, f#sinﬂ-:nﬁﬂﬁ-l R
ﬂ4ma=3t‘mLﬂ.ﬂjnﬂﬂvﬁniﬂ—lgl AT A 1
ey
uﬁtanz;um:m-mﬁ.Manﬁzﬁnﬁwéﬁawmmﬁﬂm

|'“4:iinﬂ-r:~ns9-l~l'
=3 eviilyuge | ~200-00s 941
14 tan 6= 3 evil Hmnlﬂ--ﬂ:mﬂ-—!)

OR
Iftan 24 = cor (4 - 18"}, where 24 i Ay acute angle, find the value of' A,
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20.  STHIA=2 @ DRI I S SR T ey | Wt @ ABCD # oW AL B, CRT D WY
% = e i weel AB, BC. CD 7t DA % et Tz wwwn p, Q, R
T E-E & gt A e § e = B g 12 B R | (= 3,04 7R

Find the area of the shaded region in Fig. 2, where arcs drawn with centres A, B, C
and D intersect in pairs at mid-points P, Q, R and S of the sides AB, BC, CD and DA
'I'."| respectively of & square ABCD of side 12 cm. [Use n = 3.14]

21, TwE! % U 38 e % W T v e wie W e g, U aag v e,
e o6 -3 7w e R | A e o Ser 10 St & ofv s o firsn 35 W
R, 7t 9% g A T SR W A |

’:rf
Hrpid — 3
YT

T U 0 i % e ) R e R wam 4 A e s R | e
o] ST TTH AL, | 58 w1 0~ 26 & fore R am o e f ¢
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3 lll' 1 T [ PITI ﬂl




PDF Compressor Pro

A wooden article was made by scooping out's hemisphere from each end of & solid
cylinder, as shown in Fig. 3. If the height of the cylinder iz 10 cm and its base is of
' redius 3.5 em. Find the wtal surfme a:ua clf the, amcla

F'ig, 3
OR

A heap of rice is in the form of 4 cone of base diameter 24 m and beight 3.5 m. Find
the volume of the rice. How much canvas c]mh 15 required (o just cover the heap 7

22, mﬂnimuﬂﬁzmﬁhﬁmmmmmmi:

R, R ) | oy s
5-10 49
10— 15 133
15=20 pm g3
L285 foboogs
5= &
30135 T
3540 § & |
40 - 45 2 ;
45 - 50 g

TR SFE H FrEE S T I i |

The table below shows the salaries of 280 persons :

Salary (In thousand 1) | No. of Persons
J=10 49
10-=15 133
15— 20 63
20 =25 15
25-130 6
30 - 35 7
 35-40 4
40 =45 2
45 - S0 l

Calculite the median salary of the data,
301 §
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SECTION -D

W HET 239 30 7% pAw T 4 swmE d |

Question numbers 23 to 30 carry 4 marks sach,

U e -tz foreht ot et 3 e 18 T B, 24 Tegetifter wrn & v wi &, ot
51 S 3 SR W Y S04 | e i St | um o e |

ST
ﬁmmmw#mﬁaﬁﬂzﬁmmimm“nﬁ#ﬁqﬁw

e e & 6 Tl it ) e & w8 | gt 3 = A a3 e
&, 7 o it = s if g

A motor boat whose speed i 18 kmvhr in still water takes 1hr more to go 24 km
upstream than to return downstream to the same spot. Find the speed of the stream,

OR

A train travels at a certain average speed for a distance of 63 km and then travels at a
distance of 72 km at an average speed of & km/hr more than its original speed. If it
takes 3 hours to complete total journey, what is the origingl average speed 7

W FHIH A ;R wAE e A wena e A 32 & A v o sl ww &
TR 1 S 61 < A 3 T T 7 ;15 #, wead i |

The sum of four consecutive numbers in an AP is 32 and the ratio of the produet of the
first and the last term to the product of two middle terms 15 7 : 15, Find the numbers.

mmﬁgﬂmcﬁwacmqﬁﬁgummtﬁwnn-%nctlﬁqﬁrﬂqﬁa
9AD) = T(AB)?
ST

T #itfam i, U TR 1T g B ot o1 3 s ) st i = & o & g 2 |

9 [~ T.0.
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A

28,

in an equitateral A ABC, D is 5 point on side BC such that BD = %BE Prove that
HAD)? = TAB)
OR

Prove that, in a right triangle, the sguare on the hypotenuse |5 equal 1o the sum of the
squares on the other two sides,

T g ABC ¥y fred BC = 6 96, AB = 5 #9! 3t £ABC = 60° W1 | i e firgwr
w1 v i, Tt g A Aﬂcﬁfﬂﬂ'ﬂ‘ﬂmﬂ‘fﬂ%ﬂﬂﬁ!

Draw @ triangle ABC with BC =6 cm, AB = 5 cm and ZABC = 60", Then construct o

triangle whose sides are % of the corresponding sides of the A ABC.

firg Hifor - sin A = 2 sin! A tan A

20080 A =008 A

sin A - 2 sin? A
2 cost A —cos A

Prove that : tan A,

w5 % T % amem o v wedt & Praw mun sl Rl % sm w10 39w
30N ¥ | aft wredt o S 24 T &, i oam ife

(i) WTEE I EA H FTA Ee vy e A A |
(i) ETER WA A e W al TR e =R 7w = 3,14 i)

The dinmeters of the lower and upper ends of & bucket in the form of a frustum of a
cone dre 10emand 30 ¢ respectively. If its height 15 24 cm, find :

{i})  The arena of the matal sheet usad to make the buckesL

(i) Why we should aveid the bucket made by ordinary plastic 7 [Usen=3.14]
10
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30.

e R 100 Tt et e e vt 3 0 g e 3 v @ 30°
3 450§ | 478 TR -EEE % U 1 AU S gl T o S T8 B, W 2
% ot ot oft e o | (43 = 1,732 #hf

As observed from the top of a 100 m high light house from the sea-level, the angles of
depression of two ships are 30° and 45%, If one ship is exactly hehind the other on the

same side of the light house, find the dstance between the two ships. [Use 'ﬁ =1.732]

fraaza s e 188 | &7 19— 21 S ST £ I T

Tt II=13 [ 13=15 | 15-17 | 17-19 | 15—21 | 21-23 | 33-25

—

uRETm | 3 6 g E f 3 3

FHem
ot iz fibelt Slt & 50 et = Efrs s e g

BRm oM (%) | 100-120 | 120~ 140 | 140- 160  160— 140 | 180 - 200

T 5 T 8 6 10

FIER WEA il o il W o Hee ] AT w5 gafer s Shem aney el |

The mean of the following distribution 1s 18, Find the frequency | of the class 19 <21,

Class |1-33 | 13-15 | 1S5-17 | 17-19 ] 19-2] | 2]-23 | 23-2%
Frequency 3 f 9 13 f - I

OR

The following distribution gives the daily income of 50 workers of a factory |

Draily Income (in 03 | 100-120 | 120140 [ 140-160  160-180 | 180-200
Number of workers 12 i4 8 f 10

Convert the distribution above to a less thun type cumulative frequency distribution

and draw its ogive.

11



